QUR’ANIC ARABIC - LEVEL 1

Unit YA - Present of ;<



Today’s lesson
e Present of (irregular) LS = 555

|. Indicative
2. Subjunctive
3. Jussive

4. Imperative

* Unit correction by students
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Explain these words :
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Implication of [ s< \ (jLs

+The 145 is called ULS Si.:_ul (Noun)
it is in nominative (£ g4 o)
+The i is called € i (Info)
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it is in accusative (wgais)



- v
Jussive from (=<5

|. Make 39 root Saakin
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2 If; is before 3rd root Saakin :

convert Long vowel to Short vowel (i.e.
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Imperative from (=<2
|. Since Ist root is not Saakin

only drop Prefix (é’;)
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092\ OLs
Active vs. Passive ?

like Jgis\ JLS?

NO Passive for 655\ 5L<



Correction 25/26

Classwork



to predestine (for dl) = L,.Lam \ u\.gas I oy
ol i - e

Past
Obj. sg. m. 3rd
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When // He decrees // a matter //
He // only // says // to it //“Be !” and it is
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&ygisa = pattern of ? D = |\ \2¢
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Passive particle I pl. m. 3rd Ad
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The Day when // people //
will be // like moths // dispersed :




u/i:@é.fo=pattern of Jsais 3 = Ve \e0

Lo Gihaas i a Indicative
Passive particle I sg. f. 3rd
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And // the mountains // will be
/I like wool // fluffed up. 2



(singular) 53,85 = 5 + (&8
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Jussive
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And // never be // of // those
who // denied // the signs // of // Allah



to refuse, decline = (oG \ u\;l 4 - \oy)

Sub;.
Sg. m. 3rd Ctrl.
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he refused // to be //
with // those who prostrated



to command, order = yols \ ol B = V\oeo\e ¢

2 saakin letters following Sub;j. Past passive
ONLY in the case of ;y«is a -
: / sgi 5t Cul o sgel
fat-ha () used as a linking vowel. l l /
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And // | was commanded //
to be // of // the believers .5



to force, compel = (FIV) :;S; \ nggl

s 6 - \:44
towhate, detesot =/ 85 \ b§ Ind FiV/ i =y
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Subj. pl. m. 3rd

Would you compel // the people //
in order that // they become believers !
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" sSde = pattern of Jsads

o AR A
to mention = 'S4\ K43
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He was // not // a thing [even] mentioned
(meme pas mentionne) .



d+ &+ 5l = Ll 8 - 14:4
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And // | created // you // before
and you were // nothing -



9= L2

They said // “Were we not with you ?”



unchaste, ... = (f.) g\u 10 - \4Q:Y-
verb = u\é-:t; / ‘_9-5-; JUSS.
extra marital sg. It Ctrl.
G o /
L 2 /§ \9

And // | (f.) am not // unchaste
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And // be not // like //
those who // forgot // Allah .




to thank, be grateful = A<y \ JS‘J‘ e 12 ' Vel ¢ ¢

doer of the action =J§Ld:.
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And // be // among // the grateful
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to lose, be cheated = S_uu.;:\‘).a_u.:
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and [thus] // be // among // the losers

doer of the action = 3_94'.;
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to believe = (FIV) :)a/o?gi\u-ol }5 = 12 )¢
to be safe = :).QL \ u-/oi
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O you // who /I have belleved
/] be supporters // of // Allah 5



In 2 Weeks

Exercise Unit 28
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